Complex Numbers HW & Polar Form December 05, 2012

6. Given that 2 + 3i is one root of the equation 2z° — 9z + 30z — 13 = 0, find the

other two roots.
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L+ 2 is a root of az? + bz + 5 =0, where a, b € R.Find a value for @ and for b.
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Complex Numbers HW & Polar Form

11. Form the quadratic equation whose roots are —3 = 2i.

Hence form the cubic equation whose roots are —3 = 2i and 2.
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The Polar form of a

Complex Number

Rectangular form / Cartesian form: x + iy

Polar form / Modulus argument form: r(cos # + i sin 6)
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( Example 1 )

Express in the form x + iy these complex numbers:

(a) z, = lZ(COS %T + isin %) (b) z, = S(COS % + i sin %)
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